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A parallel/ vector supercomputer system consisted of 640 processor nodes (PNs)
Each PN is a system with a shared memory, consisting of 8 vector-type arithmetic processors (Aps) 
(totally 64 G flops), and 16-GB main memory system (MS).
The Earth Simulator as a whole thus consists of 5120 Aps with 10 TB of main memory 
and the theoretical performance of 40 T flops.

1 G flops: 1 billion times of arithmetic processing/ second
T = 1000 times of G
T flops: 1 trillion times of arithmetic processing/ second

Actual record of achievement: 36 T flops 90% (World’s record for 2 and a half years)
Even in general use 30% (3 times faster than the initial goal)

The Earth Simulator as a whole thus consists of 5120 Aps with 10 TB of main memory and the 
theoretical performance of 40 T flops. Not all the APs work at the same time. Only a few % of Aps 
work together. Target maximum effective speed: 5 T flops (12% of the maximum speed)

53



54



55



56



57



58



59



60



61



62



63



64



65



66



67



68



69



70



71



72



73



74



75



BONDOBONDO
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The goal is this

Thank you
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